Profit and LOSS

Definitions

Cost Price (CP) The price ar which an article is bought is
called its cost price. All the overhead expenses in the
transaction like fright. demurrage etc, are added to the cost
price. Profit and Loss percentage is always calculated as the
percentage of CP unless otherwise specified.

Selling Price (SP) The price at which an article is sold is
called its selling price.

There is a gain in the transaction, if SP > CP

There is a loss in the transaction, if CP > SP

List Price/Marked Price The list price is called as the
marked price of the article, Some time the shopkeeper
increases or decreases the cost price, then this price is the list
price of the articles.

Formulae to be Remember
O Profit = Selling Price — Cost Frice
0 Loss = Cost Price — Selling Price
a Profit or Loss is always calculated on cost price.

fi -CP
o Profit %=E|:D—I£X 100= E—::'P——':-"-II::cmu
CP cP

Loss (CP=5P)
el B, ssliiail SV
o Loss % = » 100 = » 100

Important Rules and Formulae

Rule 1 If there is a profic of 7% then
(100 +r) x CP
bRl fuitsenid

(i) SP= %0

T X SP

(i) - (100 +7r)
Example 1. If the SP of a commodity is T 440 with a
profit of 10%. Then, CP is

a) ¥ 200 (b) T 300

Ec}l ¢ 400 (d) T 800

is a profit.

Sol. (c) Here,r=10 and there

& cp:‘”“"“:*””““ﬂsrmu
* (100 +r) {100+ 10)

EIHI“PIE 2. If CP of a fanis ¥ 720. If thEl’E‘ Isa pmﬁm
‘tﬁ% a4, Then, SP is

(a) T 840 (b) ¥ 940

(c) T 1050 (d) None of these

Sol. (o) Here x =16§ 8 CP=% 720
CP x(100+r)
p=——
100

?20x(1m+163) ?mx[1m+ EJ N
AP 3)  T0xkp
E—

100 y 100 ™
= T 840

Rule 2 I there is a loss of r%, then

 (100-7) 5 100 XSP

= xCP CP=

)y sPmimr (i) (1001
Example 3. If the SP of a commodity is T 400 witha
loss of 20%. Then, CP is

(a) ¥ 300 {b) ¥ 450 {c) T 480 (d) ¥ 500
Sol. (d) Here. r =20% (loss), 5P =T 400

_ 100X 400 _ 100X 400 _ & 0

T(00-200 80

Example 4. When CP =2 75 and there is a loss of 1%
Then, 5P is

(a) T 22 (b) T 44 (c) ¥ 55 (d) T 66
Sol. (d)Here.r=12% CP=375
¢p = (10— r}agc‘tP
100
_(100-12)x75 _88%75 _o g6
100 100
Rule 3
(i) When there are two successive profits of x% and ;]‘:*

- . -
then the resultant profit per cent is given by X+ 0

g d-g
(ii) When where are two successive losses of x% and y%

et loss % & given by | ——pe2- |
given by i

e




5. By selling a watch for ¥ 132 3 tradema
. ﬂ;mplguccessive profits of 10% and 209, fESPECﬂuel;.
resultant profit is
(b) 30%

(€)32%  (d) 34%

pere.frst 5P =300
s scond 5P =20% of firsc SP

20 0 k=132 = x= ¢
= e M — = =
100 100 R 00

0, rﬁu]tinl: pmﬁ: =X {1 32 = 'H:Iﬂ'] =7 32

32
fir=—xX100=32%
percentage Profit =2

Shﬂﬁ':ut methad
Here, the profits are 10%, 20%.

20 %10
So, resultant profit = (‘Jﬂ +20 + )% =129

Ruled Where there is a profit of x% and loss of y%, then the

peaultant profic or loss per cent is given by (x —-y- %}zﬁ
+ [fthe sign of result is positive, then there is a total gain.
+ If the sign of result is negative, then there is a total loss.

example 6. A sold a watch to B at a gain of 10% and B8
sold it to C at a loss of 10%. If C paid T 1980 for it, then the

amount paid by A is

() 21000 (b) T 1500 (c) ¥ 2000 (d) ¥ 2500
S0l (c) Here, the resultant profic or loss
=10-10-= 10x10 = — 130 there is a loss of 1%

Seling price of watch = ¥ 1980

1980 % 100
AouEaid By Al o0 X200 1900 VR wit 3000
(100~ 1) 99

Example 7. Ram sells a tape recorder to Shyam at a
profit of 30% and Shyam sell it to Sonu at a loss of 20%. If
Sonu pald 2 520 for it, at what price did Ram buy?

@50 (b)T550 ()T 600  (d) X750
Sol. (g) Here, resultanc profit or loss
SO 30x20
' =30-20— 6 =4 as sign is positive
Henge,

Senu has a net profit.
o ﬁ.l'm:mnt mid b.:I,-Ram =%ﬂ = f Sm
1

Mla§ e cost of both the icem be S One is sold ac a loss

™ and the other ar 2 gain of R%, then ;
§ % (100 +R)

(100 —r) +(100 +R)
§ (100 —1) "
(100 —r) + (100 +R)

Cosr o :
Price of jtem sold at loss =

Piice of item sold at gain =
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Example 8. Sudhir bought two boxes for ¥ 1300. He
sold one box at a profit of 20% and the other at a loss of
12%. If the selling price of both boxes is the same, then
the cost price of each box is

{a) ¥ 700 and T 500 (b) ¥ 750 and ¥ 550
{¢) T 80D and T 600 (d) None of these
Sol. (b) Total price of two boxes= 71300

Let cost price of first box=T x
. Cost price of second box =T (1300—x)

Profic on first box =20%
120% .
= Selling price of first box=x + e N ()
100 100
Loss on second box = 12%

. Selling price of second box = Cost price — Loss

Bx -
:namuxj-lz-mm-xhﬂﬁ—a— -..(ii)
100 100

But as 5P of both is same, so

120x g8x

X w1 =2 [from Egs. (i) and (i)
100 100
208x

1144 3 100
46 = k= ———— X
100 208

., Cost price of first box =T 550 and
Cost price of second box =T (1300—550) =¥ 750
Shortcut method
As 5=7 1300, R=20%.r=12%

Cost price of box sold at loss
1300 % (100 +20)

=550

1300 %120

= = =7 750
(100 =12) +(100 +20) 88+120
Cost price of box sold at gain
1300 X (100 =12) 1300 % 88
= =7 550

T (100 -12) +(100 +20) 88 +120

Rule 6 If ‘@' parc is sold at 1% profic, ¥ part is sold at m%
profit, '¢ part is sold at n% profit. If T R is earned as overall

profit, then the value of total consignment
R »100

" al+bm+en

Example 9. §- of a consignment was sold at 6% profit

and the rest at a profit of 3%. If there was an overall profit
of T 500, then the value of the consignment is

(a) 29000 (b) T 10000 (c) ¥ 12000 (d) T 12500
Sol. (b) Comparing with rule &,
Here, a=§. I= 6%
2 1
h=[|“;)=;. m=13% Also, R=T 500
. Toral value of consignment = R0
al +bm
500 = 100 50000
& = = e,
2 - e T 10000

-Me+=X3
3 3
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1
Example 10. 3 of a consignment was sold at 3% profit,
5 of the consignment was sold at a gain of 9% while the

remaining at a loss of 18%. If there was an overall profit of

¥ 540, then the valye of consignment is

(a) T 13000 (b) ¥ 13500 (¢) 2 14000 (d) 7 14500
Sol. (b) Comparing again with rule 6,

1
a=-, f=1b=5_ m=9
9

3
1 5§ 1
c=|T=c==|=2<,n==18 (- =~P
( - g] 2 (. Loss rofit)
Alsa, R=73 540
- Total value of consignment

Rx100

al+bm+en
al+bm+cn lx3+ixg+lx{-1ﬂl
39 9

_ 540X 100 54000
= =
1+5-2 4

540 % 100

=T 13500

Rule 7 If a certain number of articles are purchased at 7 a
rupee and the same number ar R a rupee. He mixes them
together and sells them at ‘Mf a rupee,

Then, his gain per cent or loss per cent

#
Mr +R) —1] *100

According as the sign +ve or -ve,

If J'-r.l'=f—"2'—"i there is always loss.

If r=R =M there is neither galn nor loss.

Example 11. Apples are bought at 9 for a rupee and
an equal number more at 11 for a rupee. If these are
mixed and sold at 10 for a rupee, then the loss or gain
percent is

(a) gain of 1% (b) loss of 1%

(c) no gain or no loss (d) None of these
Sol. (b) Companng above, here, r=9,R=11,M=10

2x9x%MN
. Gain or loss per cent = =1|x100
10{11+ 9)

=[EB-—1]x1m =2 % 100=-1%
200 200

As the sign is negative, there is a loss of 1%,

Rule 8 f a shopkeeper marks his items ar a% above the cost
price and allows customers a discount of b% for cash, then

there is [a -b- % % profic or loss according to positive or
negative sign, respectively.

Example 12. A shopkeeper marks his goods 20%
higher than the cost price and allows a discount of 596,
Then, the profit percentage is

(a) 12% (b) 14% (c) 15%

(d) 17%

Sol. (b) Let the cost price of goods =T 100 r
120
Marked price of goods = = X100=% 120

5
Selling price of goods =120~ pr= X120=3 114

i Profit percentage =(114—100)=14%
Shortcut method
Compare with rule 8, Here, a =20%, b = 5%

fi 20-=5 A =20~5
Net profit = w0 | =1=14

Rule 9 If cost price of '’ articles is equal to the selling e
of 'm’ articles, then

n—m
Profic percentage = =

) %100% (n >m)
7 m—n Y
and loss percentage = [_m_) % 100% (m>n)

Example 13. If the cost price of 18 chairs be equaly,
selling price of 16 chairs. The gain per-cent is

(a) 12% (b) 12.5%  (c) 14% (d) 15.5%
Sol. (b) Let.cost price of 1 chair=7 1

Then, cost price of 18 chairs=7 18

Cost price of 16 chais=% 16 "
Selling price of 16 chairs = Cost price of 18'chairs=¥ 18
~+ Profic on 16 chairs =3 (18~ 16) =7 2 -

Profic percentage = 1—2'6—}: 100=125% .-+
Shortcut method

n=18 m=16andn>m

18 — Wi
. Profit percentage =( : ‘16]x1m=3— X100
16 LY 16
100 s
=—3—=12.59ﬁ '

T
Elamﬂl? 18. If the cost price of 1 chairs be equal ¥
selling price of 16 chairs, the gain or loss per cent i
(a) loss of 37,5% (b) gain‘of 37.5%

(€) gain of 379 (d) loss of 37%
Sol. (a) Here, n=10,m= 16

50, m>n here not loss

Loss per centzux 100=5%100 _ 370

16 I .Eﬁ
. Loss Percentage in the transactions =375%

Discount

The reduction
called as discoy
price, .

s 1o B
ailﬂwjt‘d on the marked price of an ;r:':"-'
nt. Discoun js always réckoned on the ™

5"-““‘_'3 price = Marked pric;_ef—.:Discounf_
Discount = Selling price - Marked pricé



. ~ount allowed is r3. then
If dis¢ (100 —)

100

Selling price = * Marked price

mple 15. |[f the marked price of a fan i
dEiﬁcanur?t of 10% is given on it Ifn.rhat is tl::“sésllitn;ugrﬂ:ld;;
the fan?
(a) T 500 (b) T 575 (c) T 610
sol. (d) Marked price of article = ¥ 700
Discount per cent =10%
. Selling price = 90% of marked price

(d) T 630

90
===X700=
- T 630

Example 16. A dealer marked his goods 20% above
the cost price and allows a discount of 10%. Then his gain
per cent is

(a) 2% (b) 4% (c) 6%
Sol. (d) Let cost price of article =T 100

(d) 8%

2 Marked price of article =120% of 100 = 14 x100="1¢ 170
100 ‘

- Selling price of article =90% of 120 =% ®120=7 108

.. Gain profit = (108 — 100)= 8%
Successive Discounts (Discount Series) Suppose the
marked price of an article is 2 P and a discount of r,% is given
on it and on the reduced price, a further discount of r, % is
given. Then, the successive discount of ;% and r, % are given on
the article.
+ Selling price of article after % discount '
=(100 —'r, )% of (100 — )% of P
={Tm—fﬂ X{Tm =h) <P
100 100

Example 17. A single discount which is equivalent to
two successive discounts of 20% and 5% is
(a) 20% (b) 22% (c) 24%
Sol. (c) Let the cost price of article be T 100, _
. Selling price of, article after two successive discount of 20%
and 5% =(100=20)% of (100—5)% of 100

(d) 25%

Il
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B0
=—3x EX 1W00=T 76
100 100
=% Single discount equivalent to a series of discount

=100 - 76=24%

Example 18. Which of the following discount series is
better for a customer 25%, 10% or 30%, 109%?

(a) 30%, 10% is better for a customer

(b) 25%, 10% is better for a customer

(c) both are equal

(d) None of the above

Sol. (a) Case! Successive discount series is 25%, 10%.
Ler cost price be T 100,
=~ Selling price of article after discounts
= (100 - 25)% of (100 = 10)% of 100
=£xﬂx1ou=f 6750
100 100
Case Il Successive discount series is 30%, 10%.
.~ Selling price of article after discounts
=(100 - 30)% of (100 — 10)% of 100
D 100=" 63
100 100
As the customer will have to pay less in case Il
Here, the discount series 30%, 10% is better for a customer.

Example 19. The marked price of a watch is ¥ 1600.
The shopkeeper gives successive discount of 10%, r% to
the customer. If the customer pays T 1224 for the watch,
then the value of ris

(a) 20% (b) 35%

{c) 37% (d) None of these
Sol. (d) Marked price of article = ¥ 1600

»~ Selling price =(100— 10)% of (100 —r)% of 1600

a0  100=r

=—0x = 1600
100 100
- 12].ﬁ=%x{‘lm—r]x16 (given)
= 12’24)(152{]m_r}
9%16
= B5=100-r = r=100-85
= r=1%

Exercise

1. By selling an article for ¥ 247.50, Sonu get a profit of
12.5%, The cost of the article 1s
)220 (2205 [0T210 [d)T200

2. 1f cost price of a fan is ¥ 720 and its SP is T 840. Find

the gain per cent.

G B 1 1
(@ 6% .(b) m%m @163%  (d)163%

3. By selling an article for T 110, a man ]0;553 12%. For
how much should he sell it to g..ajn 8% 4 T 140
@Ti120 ) T12s (©Ti3d

4, If the selling price of a commodity is ¥ 450 with a
profit of 12.5%. The cost price of the commedity is
(a) ¥ 400 (b) T 405
(e) T 410 [d) T 415
5. A man buys 4 tables and 5 chairs for ¥ 1000. If he sells
the tables at 10% profit and chairs 20% profit, he earns
a profit of ¥ 120. What is the cost of one table?
(CDS 2007 1)
{a) T 200
(c) T 240

(b) T 220
{d) ¥ 260
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10.

11.

12,

13.

14,

15.

16.

17.

18.

CDS Pathfinder

By selling 12 articles for ¥ 100, a man losses 20%. How
many articles for ¥ 100 should he sell to gain 20%?

(a) 4 (b) 5 (c) 6 (d) 8

If selling price of 8 articles is equal to the cost price of
10 articles, then per cent gain or loss is

(a) 20 (b) 25 () 30 (d) 35
A trader marks 10% higher than the cost price. He
gives a discount of 10% on the marked price. In this
kind of sales how much per cent does the trader gain
or loss? (CDS 2011 1)

(a) 5% gain  (b) 2% gain [c) 1% loss  (d) 3% loss
A man sells 320 mangoes al the cost price of 400
mangoes. His gain per cent is

(a) 10%% {b) 15% (c) 20% (d) 25%%
Arjun bought two buffaloes for T 30000, By selling one
at a loss of 15% and other at a gain of 19%, he found
the selling price of both buffaloes is the same. The cost
price of each buffalo is

(a) T 17500 and T 12500 (b} T 17000 and T 13000

fc) T 18000 and T 12000  (d) T 16000 and T 14000
A man sells fans at the same price on one he gain 20%
and losses 20% on lhe other. His gain or loss is

(a) 4% loss [b) 4% gain

(c) meither gain nor loss (d} 1% loss
Sneh gains 10% on selling a pen. If she sells it at
double the price, the profit per cent is

{a) 120% (b) 6024 lc) 100% (d) 200%
A man purchased a watch for ¥ 400 and sold it at a
gain of 20% of the selling price. The selling price of
the watch is

(a) T 300 b) T 320 (¢} T 440 [d) T 500
By giving 25% discount a trader earns 25% profit. If he
sells the item at 10% discount, what is his profit?

(cDsS 2007 1)
(b) 40P {c) 45% (d) 50%%
1

Successive discounts of 12-2—% and 7 %% are given on

(a) 10%

the marked price of a cupboard. It the customer pays
72590, then what is the marked price?  (CDS 2008 |)
(a) 3108 (o) T~148 (o) 73200  (d) T2600
The difference between a discount of 40% on ¥1000
and two successive discounts of 35% and 5% on the
same amount is
(a) T15.50 (b) T1650 () TITLS0 () 718.00

A discount series of 10%, 20% and 40% is equal to a
single discount of

(a) 50% (b) 60% [c) 568%  (d) 70.28%
A dealer buys an article listed at ¥100 and gets two
successive discounts of 10% and 20%. He spends 10%

of the cost price on transport etc. At what price should
he sell the article to earn a profit of 15%37

(a) T 90 (b) T 91 [c) ¥ 9108 (d) T o110

19. A person A sells a table costing ¥ 2000 1o a person B

and earns a profit of 6%. The person B sells it tq
another person C at a loss of 5 %. At what price did B
sell the table? (CDS 2009 1)

20.

21.

22,

3.

24,

25,

26,

27.

28.

29,

(o) 72050 () 22024 (d) % 20,
o of a watch is T 160. After two sugc,..
for $122.40. If the first dise,
i f second discount?
10%, what is the rate ©
fa) 10% (b) 15% (c] 20% (d) 20,

urer of a certain item can sell aj| p,
;ﬁdum;n:th:se selling price of T 60 each. If Custs hirnli
40 in materials and labour to produce each ite ang
he has overhead expenses of T 3000 per week in Ordey
to operate the plant. The number of items, he g
produce and sell in order to make a profit of allogy
7 1000 per week is

fal 400 (b) 300 ) 250 (d) 200

An item costing ¥ 200 is being sold at 10% loss. If
price is further reduced by 5%, the selling price wil| p,
@170 BT @IS ()T

A trader sells two cycles at T 1188 each and gains |,
on the first and loses 10% on the second. Whal is

(a) T 2054

The list pric

discounts, it is sold Ao

profit or loss per cent on the wholed (CDS 2003
{a) 1% loss {b) 1% gain
[c) No loss no gain d) 2% loss

A man sold two watches, each for T 495, If he gained
10% on one walch and suffered a loss of 10% on the
other, then what is the loss or gain percentage in the

transaction? (CDS 2011 1)
{al 1% gain [b) 1% loss
{c) 100/99% loss (d) No loss no gain

If bought two old scooters for ¥ 9000. By selling one at
a profit of 25% and the other at a loss of 20%, 2 neither
gain nor loses. The cost of each scooter is

(a) ¥ 3500, T 500 [b) ¥ 4500, ¥ 4500

{c) ¥ 4000, T 5000 (d) ¥ 5300, ¥ 3700

List price of a video cassette is ¥ 100. A dealer sels

three video cassettes for ¥ 274.50 after allowing

discount at certain rate. The rate of discount allowed &
(a) 7% {b) 7.5% (¢) 8% (d) 85%

If a shopkeeper marks the price of goods 50% , moe
than their cost price and allows a discount of 40%
what is his gain or loss per cent? |

{a) Gain 10% [b) Loss 10%

[c) Loss 9% (d) Mo profit no loss
A man bought a number of oranges at 3 for a rupe
and an equal number at 2 for a rupee. At what pric®
per dozen should he sell them to make a profit of 20%!

(cps 2010
la) T 4 (b} T 5 (26 () X7

Jyoti bought a computer system for  40000. She
l!t ;gzgéajt?% at a loss of 4%. If Brajesh sells 1; for
Brajesh is en the profit per cent e

) 3% b 5% (9 7% (d) 10%

An agent buys a TV set listed at T 10000 and gets e
and 20% successive discount. He spends 10% o
CP on transport. At what price (in ¥) should he €
TV set to eamn a profit of 10%?

e (b) 869




e = FL LS, B A

3.

32

1.

21.
31,

¥

What the seller marked the printed price of
purchased at T 380, so that giving 5% Pt
is 25% profit?

a watch
nt, there

Profit and Loss 95

33. At what price must Sarita sell a mixture of 80 kg sugar
at ¥ 6.75 per kg with 120 kg at ¥ 8 per kg to gain 20%?

*4 (a) T 7.50 per kg {b) T 8.20 per kg
B:"“:m"f; 8 d::bz]m ;}ncﬂsma ?slimke el (c) T8:85 per kg (d) T 9 per kg
; : + @ SliopKeeper gains the 34. A hant adverti i
PR ; ; merchant advertises 10% off on the items bought
selling price @ ozen pencils. What is the gain? from his store. The total discount got by :1 CUS:]:TIE'ILE‘T
, 4 ) (CDS 2010 1) who bought a suitcase worth ¥ 560, a bag worth ¥ 90
(a) 12=% (b) 13-% (c) 14205 l and a towel worth ¥ 45 is
2 7 7 (d) 5?2% a) T 68.50 (b) T 70
() T 7150 (d) 2 72
R Answers
a . . (c) 4. (a) 5. (a) 6. (d) 7. (b) 8. (c) 9. (d) 10. (a)
Eg; ;g: 1.'21]" E: ng; ; :. Eg; ; g (c) 16. (c) 17. (c) 18. (c) 19. (d) 20. (b)
ta) 32. (c) 33, (d) 34: s . (C) 26. (d) 27. (b) 28. (c) 29. (b) 30. (d)

4 Hints and Solutions

1. Selling price of artli'cle = ¥ 24750 and gain = ?%

]

100
®247.50

[m + E]
2
100 X 2 % 24750

=X
= 225
Total gain = 5P - CP = ¥(840—720)= 1120

Cosr price =1
=220

Gain per cent = Ll ®100= 165%
.. 720 3
SP =T 110, Loss =12%
Cost price =7 [E >(110] =T 12%5
B8
Mow, CP =7 125, Gain required = 8%

sp=¢ Mx ]15): 135
7 100

5P X 100 _45ﬂx100='450x1m
~ 100+ gain percent 100+ 125 125

CP

Let cost of 1 table be ¥ x and cost of 1 chair be ¥ y.

4 + 5y = 1000
Tahle: Chair
cp dx SFI
R (T . 5?[1+*)=5?
16) 10 5
5P = CP =Profit

[4%-4;)7; 6y —(4x +5) =120
1 '

= .4_{+}.r=!20

L 10

=T 400

(i)

(i)

From Eqs. (i) and (i}, we get x= % 200

4 1 100 x 100
6. Cost price of 12 articles = —B-d-—= T35

Selling price for gain 20% = =¥ 150

125120
1

1
Selling price of one article = —153 =T 125

100

Number of articles to be sold in € 100 = - =8

7. Here, m= 8 n=10 As n>m so ner profit
10-8

.. Profic percentage = ®x100=25%

B. Let cost price =%x
XXT10_ o 1K

Marked price =
100 10

0o

—_——x

.. Required gain/loss per cent = 00 5 100=—1% (loss)
X

9. Here, m=320 n=400

400 —320 80
Profic percentage = #1000 =—x100=25%
il s ( 320 ] 320
10. Cost of buffaloes sold ar loss {see rule 5)

_ __30000(100+19) _ 30000(119) _, .
(100-15)+(100+19) 854119
Cost of buffaloes sold at gain
_ 30000(100-15)
" (100—15)+ (100 +19)
_ 30000 X 85
T B5+119

7500

=T 12500
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1.

12.

13.

14.

15.

16.

17.

.~ Mew selling price of an item =% X—=

CDS Pathfinder

Here, x = 20% (see rule 4) y =20%

2+:r>::u]%=_&.}E
00

Profic or loss per cent = [!ﬂ =20~

= There is net loss of 4%.

Let the selling price be ¥ 100.
SP %100 _mxm_!@

(100+10) 110 T
Mow, if 5P is T 200.

Gain=f[

Cost price =

_H}-gl?ﬂ
1 n
200/ 11

in

i 1
Cain per 1'.1:nl:=l * 100 ="120%

Let selling price=7% x

Then, 400 +20% of x=x = 4m+§=x

%= 400 s 4005

= x=7 500

=~ Selling price =% 500

Let the cost price of an item= 7% x

xX125 5

T —
100 4

=

« Selling price of the item =13

Since, the rate of discount = 25%

. Marked price of an item -—-1‘%{:{1@:!5—’(

MNew rate of discount = 10%
0 g3

100 )

Profit on new selling item on 10% discount = E[—? - x] =7 -

. Percentage profic = X2, 10066 =508
&

Let the marked price of a cupboard =T x
 x (100-125) x(‘m_?'5]=2590
100 100
_ 2590 % 100 % 100
87.5x 925

Discount = 40%

=13200

Case |
: . 60
= Selling price = 60% of 1000=EX1000=? 600

Case Il Two successive discount are of 35% and 5%
= Selling price = 65% of (95% of 1000)
— E—Sxix‘mﬂﬂ_—. T61750
100 100

.. Difference =T (617.50—600) =¥ 17.50
Let the original price =T 100
Discount series = 10%,20% and 40%
=~ Selling price of itern after discounts
_(100-40) (100-20) (100-10) —
100 100 100

18.

19.

20.

21,

22,

23,

60 80 % 100=T 4320
=ﬁa X mﬂi to series discoun
. ecount equivalent 4
+. Single disc —100— 43.20=568%

icle=T 100
_(100-20) (100 10)
Cost price for dealer = e = xm‘l
BOX 90X 100 _ 5, |
100 % 100 _

List price of art

10 -
Maney spent on transport = = x72=%720

Tortal cost price=72+7.20=3 7920

100+ 15) .
+ Selling price should be = ozl 79.20

115%79.20
|t
100
The cost price of table for person B
=2000+ 6x% =2000+120=3 2120

=7 9108

21205

Its selling price =2120=

=2120-106="¢ 2014
List price =T 160 i

Let second discount be ri
... Cosrt after second discount ,
_{100-r)  (100-10), . (100-1) %
100 100 F 100 100

36
=(100=-r)x—
[ rJ 25

by

But cost is 12240

Given, 7 uz,m=(1uu-r:|'x§
1224 £
2 szsmlm-—r
= 85=100~r "

= r=‘lm-35=15‘9§ =
Let the number of items be ‘¥ -

Then, selling price of items = 60x
Cost of material of items = 40x '
Overhead expenses = T 3000 -

60x — (40x + 3000) = 1000 = 20x = 4000

X= —@ =200
20
Cost of article =2 200 i .
Selling price = 95% of (90% of 200) ;v

5.9
=Xl wIng= 1
00 100 00=T17

By using the rule,
When there i a profit of x96 and loses of y% then the'

Profit/Loss = (x —y= i) 8
100

el

Here, x=y =109



e

Pmﬁtftﬂss=(1ﬁ—-1u____mxw
00 ) °==1%

Negative sign represent there is a loss of 19,

- 0% 10
- Losslgein per cfnt=[w-1u--_ﬁ =t
100 ]% %

Negative sign indicate thar there is a loss of 1%.
. Let cost price of one scooter =¥ &
Cost price of other scooter =¥ (9000 - x)
. Selling price of first scoorer = x 4 25X _ 125x
. ) 100 00
Also, selling price of second scoorer
2
=(9000 = x) [1-—3] =(9000- x)[ 22
100 100
' , ; 125x
. Total selling price of scooter = =X 4 (950q _ %) 80
100 1
125x

80
+(9000 - x) 22— 9000
06 P

45x
—+ 12
300 00 = 9000

45x = 180000
180000
A=e—— =3 4
rm 000

= Cost price of 1st scooter =¥ 4000
Cost price of 2nd scooter = ¥ 5000
. List price of a vedio cassette =T 100

Let the rate of discount =r%
Selling price of 3 vedio cassette =% 27450

~ Selling price of 1 vedio cassette =7 @ =7 91.50

100 - —— % 100 =¥ 9150
100

100 9150=r = 850=r
=3 Rare of discount = 85%
Let the cost price =% 100

& Marked price=7% 150
Rare of discount on marked price = 40%

Selling price=1% (15{1_% ® 15&] =Z(150—-60)=T 90

Loss=100-90=1 10
10
= Loss per cent = —— x 100=10%
pe 100

. Given, *

CP of 3 oranges of Ist variety =T 1
:

CPof 1 unngenfls:variel:y=!-i

CP of 2 oranges of lind variety=% 1

29,

31.

32,

33.

34.

Profit and Loss

CP of 1 orange of lind variety =¥ ]
2

Total CP of 2 aranges of different variety =-+-=12

LS N
o un

Profic on 2 manges:!ﬂ%of%:ﬂxé

1
00 6 6

LT E Y ]

L |
S5Pof 2 oranges==+—-=1
o 6 6

Hence, 5P of 12 oranges T &,
Cost price of computer for Brajesh

=4m—i|{4mm}-? 38400
100

Selling price of computer for Brajesh = T 40320
- Profit amount = ¥ 40320- 7 38400 =T 1920

L » 100 = 5%
0a

.. Profic percentage earned by Brajesh =
Cost price of TV =—2 x 22 % (10000) = T 7200
100 100

1
< Amount spent on ransport =ﬁ% X700=7% 720
= Met cost price=7200+720=¢ 7920

; 110
< Selling price of TV =110% of 7920 = Exmn‘;‘\' 8712

Let marked price be ¥ x.
Discount =5% of x -t-?-x-f-

100 20
Since, 5P = MP = Discount

]
= 38mx— 2 380= e =€ 00
2 20

Let cost price of 1 dozen pencil T x,
.. Selling price of 8 dozen pencils =% 8«
and profit=3 x

=> Cost price of 8 dozen pencils =T 7x

Gain mrcent:ixlm%:ﬁE%
Tx 7

Total cost of 200 kg of sugar
=T (B0x675+120% 8) =T 1500
; 1500
Cost price of 1 kg=7 —=3 750
pri kg =

Gain required = 20%
Here, selling price of 1 kg = ¥ {120% of 7.50)

120
=% | —x750|=%9 k
(aax7s0) =t pertg
Tortal discount amount =10% of total cost of items

10 10
=— (560 + 50+ 45) = — % 695 =T 6950
100 ) 100

97



